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Simplify each sum. Write answer in standard form. Circle your answer.

1) (7 =8n + 2) + (=70 + 2 + 8n°) 2) (-3a’ + 4d° +__‘f) +(-4a” - 82’ _._5_‘1)
" 7 >
ISN"=FN"=3N+4 \.—\\A el g

Simplify each difference.%Rewrite as an adition problem.IWrite answer in standard form. Circle
your answer. : |
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3) (6+5x> +6x)— (-5x° + 4+ 7x) = 4) (-3p* +3p° +2p) - (3p* —2p+ p*) = "

LHEX™4bx +5x2 -4 —Tx = —3p 45p2H+aP ~BPHH2P-_P=
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Multiply binomials. Clearly show all steps. Simplify. Write answer in standard form. Circle
your answer.

1) (3x-3)(6x+8) 2) (50 +8)(5a - 8)
18% 2+ 24X —18x% - 3 JSAT _4OA +4oA — bt
| g "
\ 2 N /.;)Sa -G
X+ lx -a4
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3) (Tx+2)? —EXEAND (?}xa—&\(?x-&—aﬁ =

Hax & +itx +i4x +4 =

\ 4qyx =+ a%x+i
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Factor each completely. Clearly show your work. Circle your answer.
- 2 6

1) 7> +8n+12 > 2) n* —8n+12 ]

2%
|(o+adn+0) [ CN“QXM-QJ
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3 ¥-x-20 * a0 4) 4x® —25 PeeFeer s® - PERFECTSQ

L(x-a—*l Xx—-5 ) 1 L—>)Cax —s)(ax-;-s)
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5) 4x24‘+ 12x + 9 — PeafFecT sQuace S
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Factor and solve complex polynomials, involving at least three factors. Facto "
GCF-
Clearly show all steps. Factor each completely. Then solve. Circle solutions.
1) 5x° +75x% +250x =0 | 2) 45x* —5x% =0
Sx (x4 18x +50) =0 5><1-(clxz'_-13 =Q
. 7 2 =y =0
Ex (xvie) (x+8) =0 5x (%) (3x71)
=3
FX=0  A+10=0 X459 5%2'-'0 ><"r'i B s

- Factoe @Y

3) 8x° - 8x* +2x° =0 4) 8x° - 10:2-32x +40=0  GROVE VN
BXECL!'X’L-—"IX-VN'JO Q(Hx?’—"ﬁxl—)(gx-\-zc)':CD
=0

QX'L C;}x - \)(ax- \) =0 aixl ('-I')(—-sb —Y (L;x-g)l

My
14X -5) Cx"- '4) =0
Zxl =0 Zx-\ =20 aL( ]

+\ )

3 (4x-5) (x+7.)(x-z) =0



